






















































































































































































































































































Final Convergence of IPF. Shown in M. Row totals and column

totals for the even rows and columns (2 ana 4) agree with
ons and offs at the two checkpoints. The rectangle totals
northeast of the even diagonal cells ((2,2) and (4,4))
agree with thru load at the two checkpoints. The ETOB is
135.9, which equals the ETOB of the seed upon which this
convergence was based.

Calculating Factors for Odd Diagonal Cells. See N. Cell (5,5}
is the only nonzero diagonal cell. It represents travel
within the segment made up of stops 5-6. Its expansion
factor 1is the ratio (final row 5 total + column 5
total)/(original row 5 total + column 5 total), where the
total 1is from above the diagonal only. The original
matrix (compressed) is D. For cell (5,5) the ratio is
(0490)/(0+45) = 2.,0.

Converting Above Diagonal Cells to Factors. See 0. The factor
for each above diagonal cell 1s the ratio (final cell
value)/(original cell value). For example, the factor for
cell (1,4) is 5.9/8.1 = 0.73.

Final Stop-Level 0-D Matrix. See P. Each cell of the original
stop-level O-D matrix (see C in calculations) is
multiplied by the corresponding factor of the compressed
factor matrix (see 0). For example, since row 5 of the
compressed matrix coreresponds to stops 5 and 6, row 5
factors from the compressed matrix multiply rows 5 and 6
ot the stop-level matrix, and column 5 factors from the
compresseda matrix multiply columns 5 and 6 of the
stop-level matrix.

Final Estimated Ride Check. See Q. The row and column totals
of the final stop-level 0-D matrix (see P) are the final
estimated riae check.
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CALCULATIONS FOR APPENDIX E

Point Check Data

thru
Stop board alight load
e emeemAR, e oo (A)
2 20 10 30
4 30 25 60
Ride Check Data
thru
Stop board alight 1load
30
25 5 25 (B)

30 15 35
10 30 35
15 20 25

) |

[, N6, - AN SN

Seed 0D Matrix

To thru
From 1 2 3 4 5 6 board load
1 0.0 5.0 7.5 8.1 4.2 5.2 30.0
2 0.0 7.5 8.1 4.2 5.2 25.0 25.0
3 0.0 13.8 T2 9.0 30.0 35.0 (c)
4 0.0 4.4 5.6 10.0 35.0
5 0.0 15.0 15.0
alight 0.0 5.0 15.0 30.0 20.0 40.0 a

To thru .

From 1 2 3 4 5 board 1load

1 0.0 5.0 7.5 B.1l 9.4 30.0

2 0.0 75 B.1 9.4 25.0 25.0 (D)

3 0.0 13.8 16.2 30.0 35.0

4 0.0 10.0 10.0 35.0

5 15.0 15.0
alight 0.0 5.0 15.0 30.0 60.0




To
From 1
1 0.0 _ o B.1 9.4
2 B ¥ S
3 0.0 1§:8? 16.2 .0
4 [0.0.730.0 " 30.0
: 5 15.0 . 15.0
alight 0.0 5.0 15.0 30.0 60.0
obs alight 10 25
To
From 1
1 0.0
2
3
4
5
alight 0.0

obs alight

To board
From 1 2
0.0 10.0
0.0

OV b L) B =

alight 0.0 10.0
obs alight 10

To
From 1 2
0.0 10.0

o

(=]
oMmw
. o+
OOhw

alight 0.0 10.0 15.4
obs alight 10

thru
load

25.0
30.0
30.0

thru
load

24.0
29.8
33.1

thru
load

38.1
47.2
60.0

obs
load

30
60

obs
load

30
60

obs
load

obs
thru
load

obs
brd

obs
brd

20
30

obs
brd

20
30

obs
brd

20

(E)

(F)

(G)

(H)



thru obs obs

To board 1load 1load brd
From 1 2 3 4
1 0.0 10.0 7.7 8.3
2 0.0 7.7 6.3
3 0.0 10.4
4 0.0 30.0 30.0 €0.0°
5 15.0
alight 0.0
obs alight
Estimated Total Observed Boardings
Seed 95.0
Adjusted 140.4
thru
To board 1load
From 1 2 3 4 5
0.0 14.8 11.4 12.3 20.7 b59.1
- 0.0 11.4 9.3 8.9 29.6 44.4
3 0.0 15.4 59.1 74.5 51.2
4 0.0 44.4 44.4 B8B8.7
5 15.0 15.0

alight 0.0 14.8 22.8 37.0 148.1

thru obs obs

To board load load brd

From 1

1 0.0

2

3

4

5
alight 0.0
obs alight

(1)

(J3)

(K)

(L)



To
From 1 5
1 0.0 18.7
2 9.4
3 32.0
4 30.0
5 15.0
alight 0.0 05.0
.obs alight
To
From 1 2 3 4 5
l1 0.00 2.00 0.73 0.73 1.98
2 0.73 0.64 0.99
3 1.01 1.9B
8
5
To
From 1 P | ]
1 0.00 mo“”ﬁ.ﬂ“’”’o 73 1,88
2 £0.73. 0.64 DJOS
3 El 01 1.98
8 .00
5 2.00
To
From 1 2 3 4 5
1 0.0 10.0 5.5 5.9 B.3
2 0.0 5.5 5.2 4.2
3 0.0 14.0 14.2
4 0.0 13.3
5 0.0
alight 0.0 10.0 10.9 25.0 40.0
10 25

Estimated {New) Ride Check Datsa

thru
Stop board alight load

40

20 10 30

46 11 19

30 25 32

30 40 15
80

bW e

thru obs obs
board 1load 1load brd
40.0 R
{20,077 80 0TITTR0.TIT20
45.9 39.1

(90,0760, 077IB0 TN
15.0

obs
thru thru
board 1load 1load
6
10.4 40.0
5.2 20.0 30.0 30
17.8 45.9 39.1
16.7 30.0 60.0 60
30.0 30.0
80.0

obs
brd

20
30

(M)

(N)

(0)

(P)

(Q)



